Ratio to ATLAS

1.4

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp

Underlying Event
I R R L
Z(pT) vsA@(In| <2.5,p_>0.5GeV,p_>2GeV) -

m ATLAS —
---0-- Pythia 6.428 345 _
—4A— Pythia 6.428 370 ]

Pythia 6.428 ambtl —
—— Pythia 6.428 z2 |

Rivet 3.1.10, = 2.6M events

A
A AA
\ AAA AAVAN
“"“V‘l:;g-‘!? X
]

A4
rAAVA

mcplots.cern.ch [arXiv:1306.3436]

N

STAAYS & AAAAANANAANNAMAAAANNAAADNAAAAAAASSDAADAAAMNLA DDA
% AY/NVARYA AVAAV, \VAAVAAVARVARVAAY; V4 RVARYA RYARYA AVARYA RVARVARYARVARYAAVARVAAVARVARYA VARV RV \VARYA RV VARV, VAV A ws swr 2 w21
D AN VANV A ava sy o s e Y R Ry A e A Y A Ay AVAAYA ANEAES 272 AVASYAAVALYAAYAAYARYALYZAVARVANY ALY ARV I

as ; o TANANPAC AN, S NVAN VAN ZANVAN ZANVANVANFAN RS ZaN VAN 2 O g gy

—0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


